gooour oooo 20050 20 70

good go

1 Jooogd

ooooooooooooooooo@ooooooo)yoooooooooooogoonog

0? 0?
N —ep=s)A= N —cu=—)¢= 1
(D—cusz) A=0, (A—epzs)é=0, ()

9¢
div A — =0 2
v AFens, , (2)
doddooooooobooooooooobooooooooooooooooooooooooa
A

E:—%—t—grad¢, B =rot A. 3)

gboboobooboobboobooobooon

A= (Az(s),Ay(5),A.(5)), s=t—z/v, v=1//ep>0 4)

0000000 Ag(s), Ay(s) Ax(s) D0DO00D00DDO Al(s), Ay(s), AL(s) D0DD0DO0D
oooooo

ol oobooboooooboboooboooooooobooog
02 0000000000 e0000DO

0300 FrE0O0O00ODO

U4. 00 BODOODOO

gs. oobooboooboobog

ge6. DUODOODODOODLOOOOODOODO
07.00000000000S=ExHOOODODO

U8 boboooboooooooooooooobooooooon



2 ODoooooog

DDDDDDDDDDDDD§6E2+;£B2DDDDDDDDDDDD 100o00ooooon
gobooooobooooooboooobooobobobooboooo nNnoooobooooboo o
gobool1oboooboboobboobobooobooobboobboo 2000000
gboobooooboooooooon

- d—
B "’;’;’;’;’
—fll])

Y

U Lnoooooooo

g2:2NOOOoOooo

01. 0000 BOOOOUODOOODOO SO 1O0O00O0OOODOOODOOOOOUODOODOO
gooooooooooboobob0 obobobobobobooo ebUbOoD

2. 020000000000 NODODOODOODOooDoooboboeooonoQg

03 010000000000 @ObobO sooodoooooooooboonbo0orIoooon
ooboooboboub B=wmIO00000O0OO0ODOOO0ODOODOOODLOObLOOODOOD
gooooobooobd

U4. 00000000ODO0ODOOOO LOODO o=L/000000000O00DOOOOODOODO
goobdob obooobuob /ooboboobobUobobDoobUoboboDobobooD
O00V=[ a |000O 0000/00000000000000VOO0O0D0O000
OodbdeOOOOOooOooooono EDDDDDDDDDDDDDDDDDDD
gbo/gboboobooboobooboobooboooo

1
us.gobuooboogoobbodgbood §L12DDDDDDDDDDD BOO0O0OO0OOODO O

1
DDDDDDDDDDDDDD?BQDDDDDDDDD
7



